
SP3434-1

EASY POWER POST™

INSTALLATION INSTRUCTIONS

			   IMPORTANT SAFETY INFORMATION

READ AND COMPLETELY UNDERSTAND ALL INSTRUCTIONS BEFORE INSTALLING PRODUCT. FAILURE TO FOLLOW THESE 
INSTRUCTIONS MAY RESULT IN PERSONAL INJURY OR DEATH.

This product is intended for use by trained technicians only. This product should not be used by anyone who is not familiar with 
and not trained to use it. When working in the area of energized lines, extra care should be taken to prevent accidental electrical 
contact. Be sure to wear proper safety equipment per your company protocol. These instructions are not intended to supersede 
any company construction or safety standards. These instructions are offered only to illustrate safe installation for the individual. 
PLP products are intended for the specified application only. Do not modify this product under any circumstances. Do not reuse 
or reinstall any PLP product unless that capability is expressly indicated in the product’s Installation Instructions. For proper 
performance and personal safety, be sure to select the proper PLP product before installation. PLP products are precision devices. 
To ensure proper performance, they should be stored in cartons under cover and handled carefully.

!

PACKAGE COMPONENTS

1. Easy Power Post with pre-applied butyl mastic (1)

2. 5/16" x 1" Stainless steel hex bolt (1)

3. 5/16" Stainless steel lock washer (1)

4. 5/16" Stainless steel flat washer (1) 

5. 1/4" x 2" Stainless steel lag screws (4) 

6. 1/4" Neoprene bonded stainless steel washers (4)

7. Butyl mastic (1) 

1

2

3
4

5

6

7

Structural Certification

Mechanical Load Rating: Designed and Certified
for Compliance with IBC & ASCE/SEI-7 through 
separate PE reviews. 



2

SP3434-1 - EASY POWER POST™

Drive the lag screws into the substrate until the neoprene rubber protrudes from the washer edges. 3

INSTALLATION

From the bottom of Easy Power Post, peel off 
the protective paper backing that protects the 
butyl mastic. 

1

Align the Easy Power Post to the substrate and 
press firmly, sticking it to the substrate. 

2

Easy Power Post
(bottom of base)

Butyl Mastic

Peel-off
Protective Paper

1/4" x 2"
Lag Screw (4)

Easy Power Post
(press firmly onto roof substrate)

+1  440 461 5200
SOLAR@PLP.COM
PLP.COM

GLOBAL HEADQUARTERS  
660 BETA DRIVE
CLEVELAND, OH 44143 

© 2023 Preformed Line Products 
SP3434-1


